tunisiamaths omlm] demlil]

dijlaol] 9 il

l 1 s;ac yupoi

75 4/308 (1
5 54v3-2 ol (2

1 2 . ;
— = 43yl seitiul
12y3° 5 J e il

[4V3-7] & || kel e, st (3

1-2v3 ' 5
l 2 >;e yip0i

—2 <x &K1 <uslids e x oS
2X -3 Jlyasaadd (1
(2x — 3)% Jlpas gl (2

x% —3x J) szl (3

| 3 sac yip0i

-1 <x <1 Gwalae xsd
2Xx-3 5 3x+5 Jdlpasang (1
—14+ V2 < V3 <14V2 ol 2
A= [2v3—-2vV2=3| = |3v3 = 3V2Z — 5| : s,beall Aalhaall el e g0 ST

l 4 sac yup0i

6vV3 5 742 008 (1

—7V2 ++/3 5 —=5V3 ok (2
1 1 L

2+TE} W?-Fl o8 (3

www.tunisiamaths.com

http://boutitimehdi.jimdo.com





